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1. Here’s what we know:

All the dogs have long ears and a short tail.

Which statement is true?

� A. All the dogs have short ears and tails.

� B. All the dogs have a short tail and long ears.

� C. All the dogs have long tails and ears.

� D. All the dogs have short ears and a long tail.

2. Here’s what we know:

Sally has three cats. One is white, one is black and one is brown.

Which statement is false?

� A. One of Sally’s cats is brown.

� B. Sally has more than one cat.

� C. Sally has more than three cats.

� D. Sally has a cat that is white.

3. Which item is the most specific?

� A. two-wheeled vehicle

� B. bicycle

� C. vehicle

� D. mountain bike

4. What is the correct way to write this sentence?

do you want to play outside my brother asked

� A. Do you want to play outside? my brother asked.

� B. “Do you want to play outside?” my brother asked.

� C. Do you want to play outside? “my brother asked.”

� D. “Do you want to play outside,” my brother asked.
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5. Which item is the most general?

� A. four-legged animal

� B. collie

� C. dog

� D. animal

6. What is the correct way to write this sentence?

carla ron and abdul ran home from school

� A. Carla, Ron and Abdul ran home from school.

� B. Carla, ron and Abdul ran home from school.

� C. Carla Ron and Abdul ran home from school.

� D. Carla, Ron and Abdul ran home from school
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7. Write a question with the same words as this statement.

The pipes are under the house.

________________________________________________________________________

________________________________________________________________________

8. Here’s what’s happening:

The man’s car won’t start, and he has to go to work.

Write two sentences that tell what the man will do.

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________
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